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TEREXE 4 Bt =z &t HH
T ZH 768 742 1,510 572
2B/ & 335 344 679 258
3 ft 452 457 909 345
4 B 153 160 313 111
5 8% 774 785 1,559 646
6 & 152 166 318 117
718 34 47 81 39
8 JbfE/\f& 358 395 753 311
9 FE/\E 489 529 1,018 435
10 #EHE 342 398 740 322
11 EH 148 155 303 104
12 /&8 397 431 828 351
13 B 226 254 480 200
14/ 952 1,087 2,039 863
15 dp 210 237 447 165
16 & 301 292 593 284
17 #&dk 139 144 283 105
18 LLHA 304 339 643 251
19 8248 208 218 426 152
20 thig 160 167 327 115
21 M 364 392 756 239
22 A RH 244 271 515 188
23 A E—TH 620 675 1,295 440
24 BeAEZTH 473 492 965 332
25 BN E=TH 633" 722 1,355 496
26 A ENTH 671 757 1,428 506
27 TAARO—Y 270 268 538 160
28 #W/E () 4 26 30 28
29 ®W/BE(I) 4 20 24 24
30 BBk 17 0 17 17
31 B —TH 3 0 3 3
32 HXEBEZTH 37 42 79 49
33XE=TH 0 0 0 0
34 FBEMWMTH 679 725 1,404 519
3B AXERTH 392 418 810 273
36 £EBNTH 751 830 1,581 516
37 }B+tTH 758 821 1,579 575
38 HEB/NTH 715 748 1,463 477
39 XEBATH 432 428 860 253
41 HIEAE—TH 690 719 1,409 602
51 RES—TH 637 597 1,234 362
52 fRER"TH 547 571 1,118 327
53 AESB=TH 601 675 1,276 397
54 FFESMTH 806 851 1,657 486
55 fiESRTH 0 0 0 0
56 fAER/NT B 0 0 0 0
57 EStTH 0 0 0 0 -
58 fHES/\TH 0 0 0 0
590 FER/NTH 0 0 0 0
60 FFES—THN/F 168 189 357 127
61 FES-THAVT X 112 114 226 78
62 7X-Y=wia, a—} 156 190 346 113

X & & X 17,686 18,888 36,574 13,333



